[bookmark: _GoBack]Cocoa conundrum – or how cocoa powder means our favourite treat could be under threat

This learning episode focuses on cocoa, the most important ingredient in chocolate, and a commodity that’s grown almost exclusively by small-scale, family farmers across West Africa, Latin America and Asia. Suitable for learners aged 12-15.
 
Learning objectives

Learners examine how and where cocoa is grown, harvested and processed to make chocolate and the different actors involved in the cocoa supply chain
Learners increase their understanding of the nature and impact of power imbalances in the cocoa supply chain
Learners evaluate whether Fairtrade is making a difference to cocoa farmers

You will need

Cocoa Conundrum PowerPoint
A 100g slab of chocolate
Film 1: Where does my food come from?
This film is about Tayna, a 13 year old looking into how we’re linked globally by the food we eat, with a focus on how cocoa is farmed.
Film 2: What’s the point of Fairtrade? 
Tayna asks why Fairtrade is needed, by exploring what the impact of world trade and poverty is on small-scale farmers, such as cocoa farmers in the Dominican Republic and how Fairtrade can help.
Film 3: Can changing what I buy change lives?
Moving on from the focus on cocoa, this film opens up Tayna’s investigation to looking at the issues on a global scale and how young people like Tayna can have a positive impact on farmers across the developing world.




Background

Chocolate is huge – in recent decades it’s grown into an $80bn a year global industry. But at the same time, the farming, industry and marketing that turns cocoa, sugar and the other ingredients in chocolate into some of our favourite bars of chocolate, has become much more global too. The growth of supermarkets, along with consolidation of manufacturing and processing means many parts of that process are dominated by small number of leading companies, such as Mondelez, Cargill and Nestle. The question is: what’s the effect of this consolidation on the rest of the chain? 

To provide these huge companies with enough cocoa to turn into chocolate bars, over five million of small-scale farmers across West Africa, Latin America and Asia grow, harvest and process about 3.5 million tonnes of cocoa each year. 

Although the chain as a whole is profitable, the benefits are skewed in favour of the lead firms in the chain and the gap between the prices farmers get for cocoa, and retail prices, has grown. This power imbalance has consequences for cocoa farmers. Growers in West Africa are likely to receive only around 5% of the final value of a chocolate bar, compared with 16% in the late 1980s. By contrast, manufacturers' and retailers’ shares have increased. What’s more, it’s argued that farmers’ and workers’ conditions have deteriorated, and growing environmental burdens undermine the sustainability of food production in many places.

But now, with demand for cocoa forecast to outstrip supply, a crisis is looming for chocolate. Rising demand for cocoa should be good news for farmers and businesses alike. But the fact is that cocoa farmers still make so little money from what they grow, that many farmers are leaving the business, and even more can’t persuade their children to take over the family farm. Living in poverty, with few hopes for a better future, it’s no surprise that the small-scale family farmers who grow 90% of the world's cocoa may simply be unable to provide sufficient supply to meet the demand.


Starter (5-10 minutes)

Start by telling the class that the focus of the activity is the most important ingredient in one of our favourite treats. Show the class a 
100g bar of chocolate and ask them what they already know about what’s in it and how the ingredients are made into chocolate. Focus on the cocoa, where it’s grown, how and how it’s turned into chocolate. You can use Slide 2-5 of the PowerPoint to help.

Main activity (30 minutes)

Watch film 1. Then get learners in small groups to think about the different types of business or people who would be involved in making and selling it – from the farmer who grows the cocoa to the shop that sells the finished chocolate bar. Use slide 6 of the PowerPoint to show who’s involved.

While you cut up the chocolate bar into sections (see below) get learners to pick one actor in the supply chain – farmer, trader, processor, manufacturer, retailer – and think about all the things they do to help turn cocoa into chocolate bars. They could use the PowerPoint slide to inspire them. 

Once the chocolate is ready, put learners into groups representing the actors involved in cocoa. 

In fact, there are so many farmers, and so few retailers and manufacturers, that to represent this you’ll need:
1 supermarket
1 chocolate bar manufacturer
1 cocoa processor
1 cocoa trader
Everyone else is a farmer

Line the groups up with the supermarket at the front, back to the farmers at the back of the space. Briefly explain that all the millions of cocoa farmers sell through a few traders, who sell to a few processors, and there are even fewer manufacturers and supermarkets.

Now distribute the chocolate to the groups. Of course some ‘groups’ will get far more chocolate between them than others. They can see how much everyone else is getting using slide 7 of the PowerPoint. Now would be a good chance to ask learners what they thought each group does to turn cocoa into chocolate. How do learners feel about this? They will probably say that it’s unfair. 

You could ask learners what they think might be the consequences of this unfair distribution, on cocoa farmers and their families. 

Watch film 2 for more on how the unequal balance of power means cocoa farmers can struggle to survive. 

Next show learners slides 8-9 of the PowerPoint to focus on the nature and consequences of the power imbalance in cocoa. (There are lots of questions on the notes pages to help structure the discussion.)
  
Lastly, ask learners what they think the future holds for cocoa. Ask them what they would do if they were a cocoa farmer struggling to make ends meet. 
Would they encourage their children to keep growing cocoa? 
What would happen if lots of farmers stopped growing cocoa?

Plenary (10-15 minutes)

Ask learners to reflect on the role they have in the cocoa supply chain – this could be as consumers of chocolate and cocoa, or as citizens who can influence how the world around them works. 

Watch film 3. Using two pieces of paper with ‘Yes’ and ‘No’ written on them at opposite sides of the room, ask learners to listen to some statements and move to stand somewhere between the two pieces of paper, according to what they think about the questions: 
Is the cocoa supply chain fair?
Does Fairtrade make a big difference to farmers?
Is it worth choosing Fairtrade?
As a consumer am I getting the chocolate I want?
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Who gets what from the cocoa supply chain?

Calculations based on a bar of chocolate with 24 squares
Figures are approximate
The chocolate bar symbolises who gets what from the cocoa supply chain, not who gets what from the cost of a chocolate bar.
Farmers ≈ 1 square (5%)
Trader ≈ 1 square (5%)
Processor ≈ 4 squares (15%)
Manufacturer ≈ 10 squares (40%)
Retailer ≈ 8 squares (35%)
[image: ]These figures represent what’s involved in the cocoa supply chain, and they show how much money the different people or entities in it make, from their role in growing, transporting or processing cocoa along the chain, on its journey to become the main ingredient in chocolate. The figures don’t include some elements of the end product, such as milk and vanilla, as well as other costs like tax that would form part of the price of a chocolate bar that we buy. 
To focus on how the average cost of an actual chocolate bar breaks down, the figures are slightly different as they include the other ingredients and tax. However, this is about breaking down the individual costs and doesn’t relate to the steps in the chain. There are many ways of looking at an issue!
Cocoa ≈ 1 square (5%)
Other ingredients (e.g. sugar, vanilla) ≈ 1 square (4%)
Manufacturing (costs of process and mark-up) ≈ 14 squares (56%)
Retailer mark-up ≈ 6 ½ squares (27%) 
Tax ≈ 1 ½ squares (8%)




image3.png

